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Fivefold Sudoku Test

By Serkan Yirekli ( )
16th-17th July, 2011
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120 minutes
)
Duration: 120 minutes 100%
After 70 minutes, the puzzle 70:07 *o 90:%9 80%
points will be reduced as shown 99:01 to 105:00 65%
in the table. 50%

Time Bonus

Players solving all puzzles
correctly will get 3 points
per saved minute.

Notes

Submission

Every puzzle except E4 has some
marked rows/columns. Answers
can be submitted either in the
online solving interface or
the LMI flash submission
interface.

No Puzzle Points
Al | Classic Sudoku 19
WSC'!E A2 | Extra Region Sudoku 35
Eﬁﬁ%ﬂ%ﬁ%ﬁ A3 | Outside Sudoku 43
A4 | Pandigital Sudoku 91
Bl | Classic Sudoku 28
B2 | Distance Sudoku 82
SupOKU'07 B3 | Quadruple Sudoku 54
Thecamnic” | B4 | Crossnumber Sudoku 32
B5 | Number 5 Still Alive 78
C1 | Classic Sudoku 42
C2 | Numeral Sudoku 84
C3 | Odd Sum Pair 40
epnsarmnaneaee | €4 | Quad Max 63
C5 | Group Sum 75
oo D1 | Musketry Sudoku 82
D2 | Killer Sudoku 61
s D3 | Triangles 66
E1l | Classic Sudoku 28
5'5%%?,&[’)&._' E2 | Odd-Even-Big-Small Sudoku 49
nGo mo E3 | Thermometer Sudoku 73
anfing” E4 | Just One Cell Sudoku 15
E5 | Double Diagonal Sudoku 94

- All examples obtained from official WSC booklets. Puzzle types and amounts from each WSC are selected randomly, shouldn’t
be considered as a “best of” selection.

- Thanks to Gulce Ozkitiik Yiirekli and Salih Alan for testing the puzzles, and thanks to all WSC organizers and LMI.
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1% World Sudoku Championship
Lucca, 10-11 March 2006

Al.Classic Sudoku - 19 Points A2.Extra Region Sudoku - 35 Points
Fill the grid with digits from 1 to 9, so that each digit occurs exactly Follow Classic Sudoku rules. Additionally, each coloured region should
once in every row, column and outlined box. include the digits from 1 to 9 exactly once.

6 9 5 5
7 4 5 6 9 3/16(8]4/9/7]2|5]1 94 5/3/219/6/1]4/78
712/4]11/5/8]6/3|9 7/9/4]15/8/2]6/1|3
362 11905|306 20874 1 61843 7|95 2
6 517 411]6]9/2]5[7]8]3 21 9/2]1]7/5/8|3/6]4
982 3 5|46 9/8/2]17(3/1]5/4|6 8 8/5/316/1/4|2|9|7
3|6 1 5/713]6[8l4f119]2 4167|312/9]|5/8]1
21416 8(3/712(4|/6]9|1|5 114/ 518 9/3]7|2/6
6(4/115/7/913|2|8 3/8/9]2|7/6|1/4|5
6| (1] 7] 3] |8 2/5/9]8/1/3]4l6/7 3 2/7/6]1]/4/5|83]9
5 1 6 2|7 9
A3.0utside Sudoku - 43 Points A4.Pandigital Sudoku - 91 Points
Follow Classic Sudoku rules. Clues outside the grid represent the digits Follow Classic Sudoku rules. Some rows and columns represent arithmetic
to be filled in the first three cells in the corresponding directions, equations with 3-digit numbers. Numbers are read left to right or top
without any order. to bottom.
2 3 9
4 1 6 3 2 + 8 l= 7 al713] |5 6] [o]8]2
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4 6 3 411|618(5/912 /3|7 F — 6|5 2097 [3]4]1
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1 3 715/119/8/614]2 3 6l 712 9 1185 6|72 14]9]3
3409 6 8 3/19(41712/5]18|6/|1 — — = +
6 8 59 206/8lal3/1]715/9 = T STelz] [FT0e) BT Te
579 5179|36/2]1.84 2 o sle[afd1]2[s5kH7]3]0
29 1183l5171al6 912 8 =] 1 -+ 9 713|1) |s]|e]|9] |2]5]4
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1793 1 2



Bl.Classic Sudoku - 28 Points

Fill the grid with digits from 1 to 9, so that each digit occurs exactly SUDOKU'O7
once in every row, column and outlined box. IND WORLD SUDOKU CHAMPIONSHIP
PRAGUI;; fj?il—;‘)Ro;iPUBLIC
B2.Distance Sudoku - 82 Points B3.Quadruple Sudoku - 54 Points
Follow Classic Sudoku rules. Clues outside the grid represent the distances Follow Classic Sudoku rules. Clues inside the grid represent the four
between the given digits for the corresponding directions, in order. digits to be filled in the four neighbouring cells, without any order.
R
NN Y A2y
Ul O N U1 L1 O L1 4 D
1-2:7 3(116]18|4(9]15|7]|2
5-3:7 g8ls5]9l1|2|7]6|4]3
5-9:5 217141513 (6}8|1|9
1-8:5 11912147183 |5]6 2469 —4689 —1458 24 9?46394;14531
5(4|13]16(|9(2]7|8]1 8 |5
5-8:7 _ 2368 —3578
71683 ]1]5]2]9]4 B 213 |7
647 418 |5]2(6[1]9(3]|7 1237 =3779
. 1367 2479
4-1:5 al2[1]7]8]3]al6]5 1387 — 2470
2468
9-6:7 6/3|7]9|5/4]1]2]8 s
7-8:6
B4.Crossnumber Sudoku - 32 Points B5.Number 5 Still Alive - 78 Points
Follow Classic Sudoku rules. Locate all given numbers in the white cells Follow Classic Sudoku rules. The sum of digits in an outlined region
and solve the Sudoku. should end with 5. Digits may repeat within a region.

3/718)9(2/4]1/6]|5 2;
2431 7168 412015671983 3!
2637 8491 9|6 (51831247 4|
4316 8495 1/8/612(7(5]3 |94 i[5
4931 8627 213|714 |9|8]6|5 |1 1
5876 8629 5/9/4]3/1]6]8|7]2 6
6517 8651 8lalof1]5]2]7]3]6 9
6798 9518 712|364 95|18 .75

6(5(117/8|314|2]|9 8




Cl.Classic Sudoku - 42 Points
Fill the grid with digits from 1 to 9, so that each digit occurs exactly
once in every row, column and outlined box.

C2.Numeral Sudoku - 84 Points

Follow Classic Sudoku rules. A lettered cell should contain a digit for
which the corresponding numeral contains that letter. Example uses numerals
in Spanish, the puzzle will contain numerals from different languages.

Numerals
In Spanish 118]5]7]4]3]e]9]2
ale|7]1]9]218]3]5
1- UNO 2(9(3]s[s]el1]a]7
g' gggs 3[s]1]9le|7]2]8]4
4- CUATRO 9171812 |3([4})5]|1]|6
5- CINCO 6l2(4]8]1]s5]9]7]3
6- SEIS 711]elal5]ol3]2]8
7- SIETE s5(alol3(2]sl7 (6]
8- OCHO sl3[2]el7[114]5]9
9- NUEVE

C4.Quad Max - 63 Points
Follow Classic Sudoku rules. Arrows point to the biggest digit in the
four neighbouring cells. Digits may repeat around an arrow.

711 3
3 9 AN slale]7[1]4lol2]3
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1 @ 4 1 ;@§?5 4|7Y376 |9
NN al37772 19|68 | 1]5
§ L |6 5 pyARA B0,
“ 2 8X1|3|4x7(5]2]|9]|6
3 512 D) €
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7 6|9

3rd WORLD SUDOKU CHAMPIONSHIP
14-17 APRIL 2008 -GOA-INDIA

C3.0dd Sum Pair - 40 Points
Follow Classic Sudoku rules. The sum of digits in an outlined region
should be an odd number.

5 8 2 6
3 7 ] > 4ls5(1]8l7[2]9]6]3
sl3]7]e6[5]o]1]4]2
9 L 4 > 2l9l6f1[3]4]7]5]8
1 4 6 2 > 1]8lal3le]|7]2]9]5
9 8 5(21319|4(8)6([1]|7
6 9 2 3 4 617191512 (113(|8|4
711 ]5)4l9]3]s]2]6
! 4 3 2 3lels]2]1]5]4]7]9
3 8 4 9 olal2l71el6l5 (3|1
4 7 6 3

C5.Group Sum - 75 Points

Follow Classic Sudoku rules. Clues inside the grid represent the sum of
the digits in the four neighbouring cells. Digits may repeat within a
sum.




D1.Musketry Sudoku - 82 Points
Follow Classic Sudoku Rules. There are 5 overlapping standard sudoku
grids which each obey standard sudoku rules.
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D2.Killer Sudoku
Follow Classic Sudoku rules. Number at the corner of an outlined region
represents the sum of all digits in the corresponding region. No digit
may be repeated within a sum.

- 61 Points
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D3.Triangles - 66 Points
Follow Classic Sudoku rules. Sum of digits in vertices of triangles is
same for every triangle. Digits in vertices of a triangle may repeat.

T4l ]3]~
97 LR 3
gl | . 2
|9 ey A
25 139
: 9| ..l2]."
......... s 64l
4 1 =7

50417|3/2/1]|8|6 9
912./6|8/51.71113 4
8.3 1|4{619]2/7]5
693271451 8
70825013 |9]4 6
1]5/4]l6/9/8]312]7
3(715]9]4al2]le]8]1
2111978 6"4 5] 3
416|8|1(3[5)7]9]2
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El.Classic Sudoku - 28 Points PhilADELPHIA S > ¥
Fill the grid with digits from 1 to 9, so that each digit occurs exactly A[P[R F;}H
once in every row, column and outlined box. ze olz]

20| [1]o

E2.0dd-Even-Big-Small Sudoku (8x8 grid) - 49 Points E3.Thermometer Sudoku - 73 Points
Follow Classic Sudoku Rules. An indicator symbol on the outside says that Follow Classic Sudoku Rules. The digits in each "thermometer"-shaped
the first two numbers along that row or column are either odd/Z% (1,3,5,7), region must be strictly increasing from the circular bulb to the end.

even/{® (2,4,6,8), big/x (5,6,7,8), or small//\ (1,2,3,4).

B 4 57 14
1 Ei ol 5 1/2[3[8]6]9]5]7]4
5 & 114]778]8[2]3]5]% 8/4/9[5/7[1|3]6]2
3 = 3/2151817111614|® 6 5/7]|2|3/4|8]9]1
odd 218|3|71614|5]1|= Z 9/8l4l6l2/5]|7/113
6| 14 516]1]4]3]7/8]2
= = 2/3|6[(1|/9/7]|4|/5|8
= 51 14 #[71116]2]5/8]4(3
odd 6 258543]627 1 571348629
bio NM41318T112151716 3/1(2(4(5/6(9/8|7
h / “Tel712151413[1]8 4/9(5|7|8|2|1/3|6
8 s 9 3 7 6/8|9]1]3|2/4l5
N & o Fi 8
E4.Just One Cell Sudoku - 15 Points E5.Double Diagonal Sudoku - 94 Points
Follow Classic Sudoku Rules. This puzzle has multiple solutions for the Follow Classic Sudoku Rules. No digit can repeat in any of the four
entire grid, but there is at least one empty cell that will contain the eight-cell diagonals.
same digit for all solutions. You are to locate and clearly identify just
one digit that can be placed into the grid with absolute certainty.
1 3 7 ) 4
1 21 15 I REEINON INETIT AL 2'sa]al7 6]a 13
4 4 S 7 84|3[2|9|1]|7/5|6
2 8 5/27]6/3 9|4]8]1
6 6 1 2 9 1.8/4|5/27]|6/3|9
9 7 3/9|6|1]|8/4|5|7|2
8 6/7(8]19(1|3[|2 4|5
8 9 ] 3 = Z 9/3(2|7(4|5|1 6|8
5 1] |3 7 2 S [7] [5] |6 4 1]5|8l6/2[3/9]7
/ 2 4 6 7




